e of error in the

measurement X, where X = A? B

will be :

o pd

() [%]%

(2) 16%
@ —10%
@ 10%

In total internal reflection when the angle of
incidence is equal to the eritieal angle for the pair
of media in contact, what will be angle of
refraction ?

1  180°
@ o

(3) equaltoangle of incidence

/(.4»)’ 90°
A block of mass 10 kg is in contact against the
inner wall of a hollow eylindrical drum of radius
1 m. The coefficient of friction between the block
and the inner wall of the eylinder is 0.1, The
inimum angular velocity needed for the cylinder
to keep the block stationary when the eylinder is
vertical and rotating about its axis, will be :
(g=10m/s?%

3.‘1&?,-— e E‘?
4 3deV.3.4eV

‘A copper rod of SB{:m and
unknown length have their incr
independent ofincrease in tempera
of aluminium rod is : (ac, = 1-
ay=22x10"%K"Y

(1) 68cm

(2) 1139 cm
A3) 88cm
=(4) 68 cm

A small hole of area of cross-section 2 mm?
present near the bottom of a fully fille dE (:
of height 2 m. Taking g= 10 m/s2, the rate |
of water through the open hole :

1 126x10 5m¥s
(2) RIx10-%mils . It-.. L
(@ 223%10 Smds '}
)  6.4x10-5mis

When a block of mass M s
wire of length L, the length
(Li+ ). The elastic potential
extended wireis:
(1) Mgl

(2) Mgl




{1] ZETD, 60 T

1 (2) 60 pA, 60 pA

(13} B0 A, zero
(4)  zero,zero

12, A 800 turn coil of effective area 0.05 m? is kept
*pEljpendll:ular to a magnetic field 5% 1079 T.
‘When the plane of the coil is rotated by 90° around
‘any of its coplanar axis in 0.1 s. the emfinduced
in the coil will be :

L 2V
® 02V

(3) 22:11?*3?
@ oy
13.  The unit of thermal conductivity is

oo b I
.l.n.
Bt

,f'ljr_naK 1

Ty e e P z ) . ),
il ¥
e

@ =4 Em[_z.,j
@ yO=3 m{ag“] t
@ =3 ma[ ":) [

15.  The displacement of a part

harmonic motion is given by
¥=Ap+Asinwt + B coswt.

*Th““ the amplitude ofits o

(e




Ibs are connected as shown in the
source of emf E, and zero internal

a,.

etal sphere of radius R is uniformly
electric field due to the sphere at a
he centre

Eﬂ} o 122%10° 12m
@ 122x10 Ym
@) 122nm

In a double slit experiment, ¥
wavelength 400 nm was used, the

of the first minima formed on a screen p.
away, was found to be 0.2°. What w1
experimental apparatus is immersed in
(Rwater =4/3)

() 0.266°

2y 0.15°

3  0.05°

(4 0.2°

In the circuits shown below, the rea
voltmeters and the ammeters will be

10 0




a-particle congists of : .
(1) 2 protonsand 2 neutrons on]y 4

{2)  2electrons, 2 protons and 2. nauﬁrmm -
(3) 2electronsand 4 protonsonly

(4) 2 protonsonly

Two pnmt chalgﬂs A and B, ha.'

F. If 26% charge of Ais transf_t!n‘gdc
force between the charges becomes ;.
(1) (873

d hydrogen atoms and c-particles with game
nta enters perpendicular to a constant
b2 'ignen : 'ﬁald B. The ratio of their radii of their




decrease
Temaln constant

b
change according to the smallest foree QR

‘a point A on the earth’s gurface the angle of
— 4+25° AtapointBon the earth's surface
angle of dip, 3= —25°. We can interpret

Aand B are hoth located in the northern
' 'mlsphere

@ 2x10°Nm

' In'which of the following devices, &

effect is not used ?

(1)  induction furnace

(2) magnetic brakingin train
(3) electromagnet

(1)  electricheater

Bndy A of mass 4m moving with speed w ct

with another hody B of mass

collision is head on and elastic
the collision the fraction of ex
colliding hody Ais: '

1
3

8
(2) 9

(3)




X

7
the wrong answer in the . : . Ps
. Pk ' : context with ﬁml!unﬂ::unpuupdhmn‘hhfulh
rmnbow. : CArrying out :
(1) When the light rays undergo two i
it d water d _!mn;::; 1) Nitrogen fixation
- rainbow is formed. 1 Chemautotrophic feataen
@ mmdﬂ of colours 1= reversed in the ol
a secondary rainbow, 4  Denmrnficntion 1"“"-%
: TL‘ M Mmmmnmwmnm&m A( . =
i = NI 47 . From umlutmn;:}- pm;,t af view, retention of the
. : : : female gametophyte with developing young embryo
4 Euﬂn:l'u-;dmh&n:d c;ﬁd nf:d-lﬁpﬂﬁlull_ on the parent sporaphyte for some time, is frst
refraction refllection sunlight. observed in :
- ; (. Li orts
42 Twosimilar thin equi-convex lenses, of fucal longth ” .,.Iuem
[ench. are kept cosually in contact with each other 5. e
such that u:; focal Ie:;:th of the combination is <7 Preridophytes
F,. When space between the two lenses is 4 G EPETI S
h ﬁ]h_"ﬁh‘lj‘ﬂﬂl:ﬂ f"h-'ifh has IJIE B e l‘l:.ErH :'T_r':;_- i rin
index (i = 1.5) as that of glass) then the equivalen :
focallength is Fy. The ratio Fy - Fy will be; | & Whichof the following is the most important cause
0 for animale and plants being driven to
{1 - extinction ?
@ 1:2 #7  Habitat loss and fragmentation
@ 2:3 (2}  Droughtand floods
) 3:4 (3) Economicexplotation
: 4}  Alien species invasion
43, Amhﬂhﬁ]ﬁ. having radiue of 1 mm, 1= blown
| from a detergent solution having a surface tension \_)( Xylem tranelocstes -
of 25x10~2N/m. The pressure inside the hubble ). Wateronly
equals at a point Z, below the free surface of water % Sy
in a container. Taking g=10 m/s? @ Water and mineral salts only
density of water = 10% kg/m?, the value of 7, is - (" Water, mineral salts and some organic
1 100 em nirtrogen only
. {4y  Water, mineral salts some organic nitrogen
:': :ﬂm and hormones
@ O5cm joff Which of the following statements 1s correct ?
: %17 Carnea is an external, transparent and
% h’lllli:h{iﬂeﬂ!nmgpmmnr Foatinnerthor protective proteinacious covering of the
sheorbed norreleased by a system? i
P fethermal (2} Cornea consists of dense connective tissue
; of elastin and can repair itself.
(3) Corneaisconvex, transparent laver which
is highly vascularised.
{4)  Cornea consists of dense matrix of collagen
and 18 the most sensitive portion of the eve.
of a gas filled in a contaner N . .
: Persistent nucellus in the seed is known as
(1)  Chalaza




weressed Sequence Tags (ESTs) refers to:
. ‘Genes expressed as RNA
(@) Palypeptide expression
(3)  DNA polymorphism
(4)  Novel DNA sequences

Grass leaves curl inwards during very dry
weather. Select the most appropriate reasan from
the following :

(1) Closureof stomata
(2)  Flaccidity of bulliform cells

43)" Shrinkage of air spaces in spongy mesophyll
(4)  Tylosesin vessels

":thh of the following muscular disorders is
m.hented 7

T (3) Mugcu}arﬁystmphy

of vertebral ribs.

Which of the following sexually
diseases is not completely curable 7
() Gonorrhoea
(2) Genitalwarts

Grenital herpes
(4)  Chlamydiasis

Which of the following statements is
(1
EnzZymes,

The hydrolytic enzymes of Ly
active under acidic pH.

@7 Lysosomesare membrane bou

(4) Lysosomes are formed
packag:i.u_g_ in the endopla

esaentm]ly reqmretl for
large scale, fnrmduatrml

47" BOD incubator




. ';qr mucus in a speeific direction. In
2. these cells are mainly presentin:
~ Bile duct and Bronchioles

‘Fa]lupmn tubes and Pancreatic duct

L (3} Eustaﬁhzan tube and Salivary duct

ey

g " Bronchinles and Fallopian tubes

s

; f'":!:'hntlﬁ the site of perception of photoperiod

iy

al *ﬁ..g,u_ﬂmmry for induction of flowering in plants ?
o Lateral buds

W ‘ﬁ'@ Shoot apex
e

tha hominids with their correct brain

Homo habilis i1 900 cc

fﬂéﬁﬂ;n@mdﬂﬂhafensis (i)
. (1)
(i)

13560 ce
-Eﬁ!mo-'emntus G50 - 800 cc

Homo sapiens 1400

39.//' Which of t.hese-ﬁil_._l_bwi_j:lg_._nfﬁ b
suitable for disposal of nuclear waste?

(1)
(2)
(3)

Shoot the waste into space. .
Bury the waste under Antarctic

Dump the waste within rocks w
ocean

‘4';/ Bury the wasta within rocks deep be
Earth's surface

l@) Drug called 'Heroin' is synthesized by :
(1)
!-Hj/ acetylation of morphine
(3)
)

methylation of morphine

glycosylation of morphine

nitration of morphine

Jl./ Use of an. artificial kidﬂe}'duﬁn
may result in : ' .

(a)  Nitrogenous waste build.

()  Non-elimination of excess p




797 Which of the following p
::cmtam DN&T '

@ thnhundnﬂandlg

Lysosomes and Vacuoles

e ii:ifﬁamid:gf-’binmass inasea

e &g_&n&ﬁ sequence for transport of sperm
male reproductive systeni.
Testis — Epididymis — Vasa efferentia Ingukin: dependent?
_ Rete testis—Inguinal canal — Urethra (1) GLUTI

Seminiferous tubules — Rete testis (2) GLUTIL
3 Vasa efferentia — Epidid ymis (3) GLUTIII
_, Vas deferens — Ejaculatory duct
—3 Urethra — Urethral meatus ) LUTIV
Semimferuus tubules —» Vasa efferentia : :
—» Epididymis — Inguinal canal firat irreversible reaction of glycolysi
— Urethra by : S
— Emd:dymm —3 Vasa efferentia (1) Aldolase
i ens - E;aculamry duct
Urethra




‘sequence of organs i in the

X — Oesophagus — Urup e
-1 llaum —5 Gu‘.lnn =y R-Eﬂtum

5 ﬂw}i —!'Ilf-um — Colon — Rectum
- Pharynx — Oesophagus — Gizzard —
]iaum — Crop — Colon — Rectum

Pharynx — Oesophagus — [leum —
Crop — Gizzard — Colon — Rectum

_Sé‘léﬁﬁffﬂi:_é_- hormone-releasing Intra-lUterine

(" Vaults, LNG-20

(2) Multiload 375, Progestasert
{3} Erugestaﬂert LNG-20

: (‘ﬂ' Lippes Loop, Multiload 375

% Concanavalin A is -

'El) an alkaloid
(2)  anessential oil
(8 alectin

{4} apigment

!ﬁﬂﬁ precipitation out of a mixture of hiomolecules

!m.an achieved by treatment with !
Isopropanol

Chilled ethanol

Methanol at room temperature
Chilled chloroform

]

n of concentrated urine ?

| of cockroach nfa:tmg from

the following factors is responsible for

@.

their rnspemve prﬁduar.s : .
(a) 1gene @ -galactosid
(b) =zgene () Permease.
(¢) ‘agene (i) Rﬂpmmm: i
(d) ygene (iv) Transacetylase
Select the correct option.
(a) (b)) (o) (@
(Hn M (@ Gy Gv)
(2 @) 0 §H Gy
@ @) © G )
4y () v @ (11) '

Which of the following features of gr-.-nmnmdn ﬁneaﬂ

allow bacteria to produce human insu -fl;l_jt“
recombinant DNA technology ?
(1)  Geneticcode 1s not amhlguau.a
(2)  Genetic code is redundant
&  Genetic code is nearly universal
{4)  Geneticcodeis specific.
Match the following hurmnmamtﬁ'f
disease ; '
(¢)  Insulin
®)  Thyoun

-(&J GrnwthHormun&




suspend the cell cycle
:miimte the cell cyc]e

,U,I.'Q"' :
0.7

0.07
0.09

Eelect the correct group of biccontrol agents.

Bacillus thuringiensis, Tobacco mosaic
virus, Aphids

'Tr'u:hadermﬂ. Baculovirus,

Bacillus thuringiensis

b 1 -"'-.Gscﬂia!ana, Rhizobiwm, Trichoderma

'-Nusmc, Azospirillium,
._Nucleupaiyhedrumrua

'olumn - I with Column - I1 -
Column-1I1
Depolarisation of
ventricles
Repolarisation of

(ml {w}
i) ()

Which of the following contrace
involve a rale of hormone )

(1)  Lactational amenorrhea, Pill
rontraceptives

(2)  Barrier method, Lactational ame
Pills :

‘({) CuT, Pills, Emergency contrace

(4  Pills, Emergency contraceptives
methods

Due to increasing air-borne all
pollutants, many people in urb
suffering from respiratory disorder
wheezing due to:

(1)  benign growth on mucous lining
cavity. f

27 inflammation of bronchi and |




p ant '_j:];& female gamete develops mh;r
w Afertilization. This phenomenon

e

@ Symramy (1) Rudolf Virchow
. Parthenogenesis (3r Theodore Schwann
(3)  Schleiden

of. Which one of the following statements regarding (4)  Aristotle

 post-fertilization development in flowering plants L
isincorrect” ?«!/ Phloem in gymnosperms lacks :
(1) Ovarydevelops into fruit (1)  Albuminous cellz and
(2)  Zygotedevelops into embryo (2) Sieve tubesonly
(3)  Central cell develops into endosperm (3) . Companion cells only
" Ovules develop into embryo sac f‘( Both sieve tubes and comp

07/ Matchthe following organisms with the products 8. Match the following organisms -
. thzyprﬂduce respective Ehﬂractanahca Fatt

@ Lactobacillus ()  Cheese @ &

b  Saccharomyces (i) Curd ()  Bombyx {ﬁ}
Qe (€0 Pleurobrachia '
Aspergillus niger (iii)  CitricAcid d Taenia
Acetobacter aceti (iv) Bread :

()  AceticAcid
§ﬁﬁﬂ the correct option.

) (b) (o)

(iv) )




i -mspﬂnslﬂlefnr rejection of kidney g-raft 9

@
f:E3)

Auto-immune response
‘Humoral immune response

- Inflammatory immune response
~ Cell-mediated immune response

Which of the statements given below is not true
about formation of Annual Rings in trees ?

(1)

Anmnual ring is a combination of spring wood
and autumn wood produced in a year.
Differential activity of cambium causes light
and dark bands of tissue - early and late
wood respectively.

Activity of cambium depends upon variation
ineclimate.

Annual rings are not prominent in trees of
temperate region.

the direction of movement of sugars in

(2) (A)istrue hut (B) mfiﬂs&
(3)  Both (A)and (B)arefa_]m I

(1) (A)is false but (B) is true.

: ge t in the treatment ﬂf_p_iant_. EEE

Trichoderma
Chlorella
Anabaena
Lactobacillus

Pinus zeed cannot germinate a
without fungal association. This is beca
(1) itsembryoisimmature. ;
" ithas obligate association with m
(3)  ithasvery hard seed coat.

() its seeds contain inhibitors that
germination.,

Which of the following is a e
cholesterol lowering agent?
Cyclosporin A
Statin
Streptokinase




(iv) ;

El‘:} | OxynticCells

, :
Duodenal Cells

- 97% of the newborn with an average

tween 3 to 3.3 kg survive whereas 99% 138, The Earth Summit heldin Rio de Janes
eld in Rioc :

was called

(1) to reduge CO, emissio
WArMIng:

"8 (2) for conservation of biodiversity &
- Digruptive Selection sustainable utilization of its benefits.

Cyclical Selection (3)  tonassessthreat posed to nat

- invasive weed species.

owing statements describe the characteristics

. enzyme Restriction Endonuclease. Identify )
correct statement.

~ The enzyme cuts DNA molecule at identified )31/

for immediate stepa to discontinue us
CFCs that were damaging the ozone Ia:

osition within the DNA. What triggers activation of proto
The enzyme binds DNA at specific sites and toxin of Bacillus thuringte ns i

cuts only one of the two strands. | o TE
The enzyme cuts the Eugar-phusphat_g y temperature
_lﬁl_:'l-&_}mne at specific sites on pach strand. @)
The en zyme recognizes @ specific

ﬁﬂiﬁarotmibnudeuﬁda_gequgmmhenm

. Eih&.iﬁ““ﬂ“fﬂtﬂt&m&nt,
N .-fﬁﬁtﬂy._-jgl;atemgamqﬁc, .
le grasshoppers, 60% of sperme DAYE




)
(i)
@)
(m} vy @ G

-' . Which is the correct thermal stability order for
HEE(E 0, S, Se, Te and Po) ?

(1) H,S<H,0 <H,8e <H,Te <H,Po
(@ Hy0 <H,S <H,Se <H,Te <HyPo

B~ H,Po< HyTe < H,Se < H,8 < Hy0
(4) H,Se<H,Te<H,Po<H,0<M)S

.}ﬂﬁ- Among the following, the reaction that proceeds
" through an electrophilic eubstitution, is :

2 _5@ .+mgfl—mi+ QEI+HLI
VR

(1)

(a) and (b) only

2 (@), () and©

()

(4)

(a), (c) and (d)
() and (d) only

The method used to remoye tempo
of wateris:

(1)
(2)
(3)
(4

Calgon's method

Clark's method
[on-exchange method
Synthetic resing method

For the chemical reaction
Ny(g) +3H () = 2NHa(g)
the correct optionis:




150. The maj mﬂu.;tgg} e follow

el T
- and permanganate ions gre

The 7 bonding involves overlap of p-orhitals
OXTE 1 ‘I'lil'lth d‘ﬂrhitﬂjﬂ “fmﬂnganage

no 7- bonding

hqhdmg involves averlap of p-orhitals
.'W'Iﬂ'l p-ﬂrhltﬂl& ﬂfman.ganeae

.. ngﬁmb&r of moles of hydrogen molecules
Pequir pmdw:e 20 moles of ammonia through

ﬁ?,: process is :

350 K and 15 bar has molar volume

reent smaller than that for an ideal gas under
conditions, The correct option about

i ind its Flﬂmprexambﬂjt}r Faotor (£ 181

- Z>1and attractive forces are dominant
) Z>1and repulsive forces are dominant

~ Z<1and attractive forces are dani t

M NaOH-+25 mL of tu*f! 25




Which of the following is the correc
(@) (b) (o)

© @ )

50 mL of 1 M AgNO, +50 mL of 1.5 M KI @ &) O

50 mL of 1 M AgNO,+ 50 mL of 2 M KI @ @) ) W

50 mL of 2 M AgNO; + 50 mL of 1.5 MKI W G G

50mL of 0.1 M AgNO, + 50 mL of 0.1 M KI .
Among the following, the narro
antibioticis: : by
(1)  penicillin G

{2)  ampieillin

amoxyel illin




A" on reaction With 7
[ _uneandet.haml ﬂg-ﬂnﬂzn H B

Anal in equimglar o
£HO! to alkene “A” gives %mf"‘:r
Tk e structure of pmdmt"ﬂﬂ B

. CH,

m 0 -{]-H2 CH,— CH
E CH,

CH,Cl
HyC—CH,— CH- CH,

CH,
| HiC- LHZ—L" CH,
s

CH,

J:lylnnﬂ. 6

n5lon 2-nylon 6

Aﬁ/i Among the following, the one t]:mh
green house gagis :

(1} nitrovsoxide




. )4 4d, fip, if and 6p orbitals are arranged in the order
! : < ofdecreasing energy. The correct optionis:

(1)
(2) Gp=5Hf=ap=4d

;3’/ 6p > 56f > 4d = 5p

(@) B5f=6p>4d=>5p

5f > Bp = hHp = dd

' he mixture that forms maximum boiling.
‘azeotrope s :

Wﬁtﬂr + Nitric acid

0.5%x10~10

~ spectrum of hydrogen atom
region ? '
(1) Lyman series
(2)
(3

Balmer geries
Paschen series

(4)  Brackeit series

Z?Bﬁ'denﬁfy the incorrect statement relate
from the following

(1)

Three equatorial P— Cl bonds malke
of 120° with each other e

(2)  Twoaxial P— Cl bonde make an angle
with each other i
()  Axial P—Clbonds are longer than A

P —Clbonds

\.,(4)/ PCly molecule i&i—ﬂﬂu—tﬂﬂﬂﬁw_}.

. The most suitahlmrua;&n{:;if e t
conversion, ia: L




[Given that Farad

) _
@ -—2316kimol=t

(3 4632k mol=!

(4) 2316k mol™!

The correct structure of tribromooctao:

0
Qi i %29,
O0=Br—Br—Br=0
[




